% FURUNO
PACKING LIST FOR FE8O0OO

Box 1 - FES80ODISP
Part No.
FE8OODISP
100-360-671-10
100-356-091-10
000-171-997-10
OME-238-40Z
IME-238-40Z
MDC-238-40Z

~N o ok NP

Box 2 - FE8020
Part No.
FE8020
000-157-497
000-570-325
000-167-410-10
000-167-464
000-863-110
000-162-879-10
500-310-040

0 ~NOoO o WDN P

Rev 8/14

Description

Wt: 8Ibs. Dim: 14"x 13"x 8"

Display Unit w/Hard Cover
LCD Cleaning Cloth

Cosmetic Cap

Self-Tapping Screw 5x20
Operator's Manual
Installation Manual
Environmental Data Sheet

Description
Transceiver Unit

Fuse 2A

Quantity
1

N = I Y

Wt: 29 Ibs. Dim: 20"x 19"x 10"

Cable Tie CV-150N

Spring Washer M8 SUS304
Flat Washer M8 SUS304
Hex Nut M8 SUS304

Hex Bolt M8x25 SUS304
Copper Strap 1.2M

Page 1 of 1

Quantity
1

R A Do Do DN

For Internal Use Only

Serial No.
Checked By:
Tech
Date
FE800DISP
Yes Remarks
FP12-00801
CP12-01101
FE8020
Yes Remarks
SP12-00801
CP12-01201




